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Time: 10 Minutes | Paper Math 8 (T-1) Total Marks: 10

| 1st Month, 4th Week, Ist Day |Sub-domain IIL Exercise 1.9 Q#1|

Q.1. Choose the correct options. (0.5x 6=3) -J /';«l‘f:'llf.,«lﬁc/u
(i) Formula to calculate the number of digits in the square root
of a number, if the number of its digits are even:

el i L L L Sk urin L e Lo’

(a) n ()| ntl ©| 2Bi= 2 () n

2 2 2 3

(ii) The number of digits in the square root of 49729 is:
e s S Urir i 49729
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| 1st Month, 4th Week, 1st Day |Sub-domain III. Exercise 1.9 Q#1|

Q.1. Choose the correct options. (0.5x 6=3) -/ /..,«@:’l(b.«l}?u/:
(i) Formula to calculate the number of digits in the square root

of a number, if the number of its digits are even:
:?ﬂoﬁzﬂﬂdjjgﬁ)ﬁu’ fﬁﬂfzﬁ(ﬁL/’?ﬁ"ﬁ'ﬁJd%ﬁL/Jec‘:)ﬁu’(

(a) n (b) n+l n+2 n
) S |©O T @ 3
(i) The number of digits in the square root of 49729 is:

e sl Urer i 49729

(a) 5 (b) 4 (c) 3 (d) 6

(iii) The number of digits in the square root os 10329796 is:

e LIS Uyt 1 de L 10329697
(a) 5 (b) 3 (c) 6 (d) 8

(iv) The number of digits in the square root of 66564 is:
e LIS Urin 1 ie L 66564

(@) 5 (b) 4 () 3 ) 6

(iii) The number of digits in the square root os 10329796 is:
e IS Ur L U100 L 10329697

(@ 5 (b) 3 (©) 6 (d) 8

(iv) The number of digits in the square root of 66564 is:
e LI S Ui 41 ie 66564

(a) 6 (b) 5 (c) 4 (d) 3
(v) How many number of digits in the square root of 164836?
S PSS Ut e 164836
(@) 3 (b) 4 (© 5 (d) 6
(vi) The number of digits in the square root of 80089 is:
eI SUrin 1 ie 80089
(@) 6 (b) 5 (©) 4 (d) 3
Q.2. Answers the following questions. - J.:«U}?L:«Ulfdj 3ls
(i) Find the number of digits in the square root of 1577536. (1x2=2)
G Susin e 1577836
(i) Find the number of digits in the square root of 614656. (1x2=2)
S S e L 614656
(ii1) Find the number of digits in the square root of 12880921. (1x3=3)
P Sus e 12880921

(@ 6 (b) 5 (©) 4 (d) 3

(v) How many number of digits in the square root of 164836?
S PP Urin S 1o 164836

(@) 3 (b) 4 () 5 ) 6

(vi) The number of digits in the square root of 80089 is:
sl §Ursn 4 1ie 80089

(@) 6 (b) 5 () 4 ) 3

Q.2. Answers the following questions. - ).:«l,lﬁﬁc«wfdj R1O%)

(i) Find the number of digits in the square root of 1577536. (1x2=2)
IS Ui e L 1577836

(i1) Find the number of digits in the square root of 614656. (1x2=2)
S S e L 614656

(ii1) Find the number of digits in the square root of 12880921. (1x3=3)
P S Ui e 12880921



